Syntax & Semantics

Quiz 2

»  For the following pairs of sentences and determine whether they are related to each other by entailment or
implicature. If by implicature, show how the implication may be defeated.

Vi.

Vii.

viii.

Only Usman knows the answer.

Usman knows the answer.

Not everyone will get the correct answer.

Someone will get the correct answer.

Allegedly, Thakuru is a good player.

Thakuru is a good player.

Thakhaan boiled an egg.

Thakhaan cooked an egg.

Suad is about to give birth to a baby.

Suad is pregnant.

Xi.

Xii.

Xiii.

Xiv.

XV.

XVi.

XVii.

XViii.

Asima murdered Kinaanath.

Asima didn’t like Kinaanath.

Now that she had a passport again,
Sakeena is able to leave the country.

Sakeena left the country.

Some of Dhonfuthu’s children stayed
behind when he left the country.

At least one of Dhonfuthu’s children did
not stay behind when he left the country.

Gamaru tried to get Kaasim to go with
her.

Kaasim didn’t go with Gamaru.
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